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QUESTION 1

Which is a valid reason for activating snapshots? 

A. Changing the default Governance process in Process Center 

B. Starting a specific version of the process in Process Portal 

C. Deploying the activated snapshot to the connected Process Server 

D. Preparing to delete a snapshot using the \\'BPMSnapshotCleanup\\' wsadmin command 

Correct Answer: D 

 

QUESTION 2

A shared object is passed by reference from a process to two different services. The process and services 

each contain a separate copy of the business object. When the first service completes, the shared object 

values are automatically persisted to the data store. 

Which statement is true regarding the second service? 

A. When the second service starts, the shared object values are automatically loaded from the data store. 

B. When the second service starts, the shared object values still refers to the copy of the business object it received
from the process. 

C. When the second service starts, the shared object values have to be manually loaded from the data store. 

D. When the second service starts, the shared object values is passed by the process again. 

Correct Answer: D 

 

QUESTION 3

The Web API provides operations that enable client applications to achieve which functionality? 

A. Query Coaches 

B. Search personal data 

C. Manage internal activities 

D. Query process instances and tasks 

Correct Answer: C 
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QUESTION 4

What are two IBM BPM tools a developer can use to immediately fire a timer event while testing a process instance? 

A. The BPMConfig script 

B. The Event Manager in the WAS admin console 

C. The Process Inspector in the Process Designer 

D. The Process Inspector in the Process Admin console 

E. The Process Performance Dashboard in the Process Portal 

Correct Answer: CD 

 

QUESTION 5

A developer has an Output Text with control ID \\'Output_Text1\\' above a Table in a Coach. Within the Table, there are
two columns: 

1. 

The first column is a Text Control with control ID TextV 

2. 

The second column is a Button control with control ID \\'Button1\\' 

How would a developer set the value of a Text control to \\'Clicked\\' when a Button on the same row is pressed? 

A. Set the Text\\'s \\'On Change\\' Event configuration option to: ${Textl=}.setText(\\'clicked\\') ; 

B. Set the Button\\'s \\'On click\\' Event configuration options to: ${Text1=}.setText
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